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(a) Next [NEW] = Pointer;
Pointer = NEW;
(b) Pointer = NEW,
Next [NEW] = Pointer;
(c) Next [NEW] = Next [Pointer];
Next [Pointer] = NEW;
(d) Next [Pointer] = Next [NEW];
Next [NEW] = Pointer;
(e) LLEEFE
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Pointer + Back £S5 —{EIENES » -1 RAAKAZM) G 43)
(a) Next [Pointer] =-1;
(b) Next[Back]= -I1;
(c) Back = Next [Pointer] ;
Next [Pointer] = -1;
(d) Next [Back] = Next [Pointer];
Next [Pointer] =-1;
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int Maze (int a, int b, int ¢)
{
if(a<b)
return a;
else
return ((a % b) + ¢* Maze (a/b, b, ¢));
}
Fat B T YRR TS < RARHIE -
(a) Maze (1020, 10, 7)=?
(b) Maze (352,4, 11) =?
(c) Maze (16,2, 2)=?

M SR EEEREEER DI TR R RBERCRE - (154)




B2 2-HK% 2 B

LB I EMRBIEKE R RER
A 101 2EEFETHERIEREIEEEHRE o8 waume

fi- HETETIREEAME 6453)
(@) HIF-EE: **76-/821
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J\ BT HITEEL T/EHBBE(AOV, Activity On Vertex Network)JfE{THRiEHERF
(Topology Sort) » FJHERIASSRAGHRLE ? (10 43)

71~ Insert the integers 1 to 8 into an empty max-heap. Draw the step-by-step
process. (10 43)

~+ ~ Let Y be a pre-defined constant and 4 be an array declared as follows.
var A4 array[1..159, 1..Y] of integer.
Assume that A is stored in row major order in the main memory and each
integer needs two bytes. If A[4, 5] is stored at address 2012, and A[111, 12]is
stored at address 2940, what is the value of Y? (10 43)

+—~ Let b, bethe number of distinct binary trees with » nodes. We have
n-1
b,=Y bb, ., ,where n>1 and b, =1
=0

What is the value of b,7? (10 43)
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